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COMMERCE

‘(Honours Generic)
Answer the Questions from any one Option.

OPTION-A

* ' ( Macroeconomics) |

Paper, : COM- HG 2016

OPTION-B
(Insurance and Risk Management)
Paper : COM-HG-2026 .
. Full Marks : 80
- ~ Time : Three hours

The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.
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: () What does a vertical IS curve mean ?
OPTION-A

o ey IS @)iR [ g e
(Macroeconomics ) y
Paper : COM-HG-2016 ‘ (g) State the condition of equilibrium in

the money market.

Tl TG AR 58 T |

AT
Answer any ten of the following questions :

1x10=10 .
o7 [ e Rzt wehlT Ted WAl ¢ - (k) A contractionary fiscal policy is anti-
~ inflationary/anti-recessionary/neutral.

(@ What ; : ! '
B atiby icircular flow of (Choose the correct answer)

il’iCOrne’ ?
O S e Wi R FRCRITETE KGR 1 arFifo- Ko /-
What do L :
you - . 2
demand ? In.ean by Reffoctive gy f ‘ ) (i) Define frictional unemployment.
S’f?@ REGE R ‘ | T g kel |
(c) What is static €conomic analysis ? () What is meant by sacrifice ratio ?
o Wit Rogae g ‘ s 2l O pisi-oRATS S R e
() '

What 1 : o o s : o)
IS meant by aggregate demand ? (k) What is meant by open economy -

S Bt iy g ‘ B i i
(¢) Draw al long-run a ‘ l
Curve,

mwmﬁﬁ@:’na@mu
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() Define exchange rate.

R 2 el T |

ggregate supply

& 9
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(f”-) - According to Keynes, demand for money
arises out of motives.

-~ (Fill in the blank)

OO, ER R . e s

Bge =) (T} 512 799 )
(n) What do you mean by liquidity
preference ?

(0)

N i '
ame the €conomist who developed the
concept liquidity preference

maﬁqm
cafiony ‘WTWWWQ@F@WW

Answ - .
Cr any five of the following questions :
2x5=10
v it RS Ry 5519 Tea fim ¢

(@ What are the deter

minant ive
demand » s of effecti

R SRR e & g
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(b)

(c)

(d)

e

How is the LM curve derived from

money market?

Sl TS LM @RI (A SR <9 22

DiStingui‘sh between demand-pull

inflation and cost-push inflation.

i mﬁ%{mﬁ%w@mm@ﬁ@
e e Ay (e |

What is Phillips curve ? Draw a Phillips

curve.

ZFEa @ e e @ 9Ule Sk 9|

What is the natural rate of -

unemployment ?
Fagae agfos a8 /e

Distinguish between fixed exchange rate
and flexible exchange rate. '

Al @YeAl |
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State the factors that determine the

~.(9) What are the determinants of business (¢ - !

fixed investment, according to Keynes ? - slope and position of the IS curve.
,@iﬂ%wwﬁaﬁaﬁﬁmﬁﬁm IS EAITET i S oz At =i
oM i ToAmTEIZ G |

(h) What is liquidity tré ? State the (d) Explain the effect of cut in taxes on
relationship that EXI.D't bat a the level of income, using the IS-LM

ey ists betwee

liquidity preference and rate of interest. R
I T Rt oy i o FdfiRee 9 2R 2o [ 2t IS-LM
< A B I 79 e WSO @RIfbaT e I 4 | :

A {e) Explain the trade-off between inflation

ISWer any four of the following questions and unemployment.
TS Rl ereraies o=l SEPRITS Sl R e SRR T et
R Sifisre S ot ¢ il |

a 1

(@) Discuss briefly the 5 I () Briefly discuss the demand-pull theory
icome in 5 twq sector economy of inflation.

m _
THTE TR - sifewt eeiire Jures SwC! BYE ST
il ek 41|
(b)  What are the Components of i (g) Write brief notes on the different types
: : aggre
dema,nd function » BEE of investment. :
WW&WW@W & fo Rivcise Rfen eome Raw 59 Gre vy
-2/C ; .
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(h) Explain the relationship between

speculative demand for money and rate
of interest. ' '

IR Fq|

Answer any four of the folllowing questions :

(@) S;ate the conditions of equilibrium of
cconomy. Explain the short-run

equilibriur
quilibrium of gn economy using

aggregate d
approach. ¢mand and aggregate supply

2+8=10
RRENIS 3
WQWWW@@.{,I@“

Ll STl T i o e
© T ZERTH STl 1<l <=1
(b) Discuss t - : '

' curve:S.S Eil ¢ features of IS and LM

lai : 3
ki ‘plain the determination of

; m rat 3
Income w € of interest and level of

4+6=10

IS W@ LM :
I AR et = 119

Ui% LM (@5
RIS SRy i
SR SR R e g &
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10x4=40

ith the help of 1S-LM curves. .

(¢

(d)

(e)

How is the LM curve affected by the
change in the supply of money and the
demand for money? Explain with a

diagram.

R IR S A SRR ARTEE 7 LM

w0

Explain the different measures to

control inflation.

qurfs e [ifer SRR i < 1

Discuss the effects of inflation on
production and distribution.

Beolir I Ko erive e Sore
@ s 4|

What is inflationary gap? Explain

inflationary gapr with a diagram. How

can the inflationary gap be wiped out ?
2+5+3=10

IR0 9 | [EPTRIRGS FF (AL S AR 2
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" (g) Howis the'IS curve derived from goods
market in open economy ? Explain with
diagram. :

T& SdRIT TR IS IS @O (@EE

Sz T =2 g T2 it 4|

(h) Discuss the cash balance approach of
thc; quantity theory of money. How is it
superior to the transactions approach
of the quantity theory of money ?
Explain. - ' 6+4=10
TR AR O o qooT s S

T R AR e Eom siafeeis 3
- T T2 I = |

(i) Discuss Keynes’s reformulation of the
quantity theory of money. How is it

superior to the tradition i
al tit
theory of money ? ' q16132=11(};

X 1 o @3 o A R
DS 4 | 2 =o{q1are
(T BB 2 \gméﬁww?{t

0 ]CD:rlitically discuss Tobin’s portfolio
alance-approach to demand for money.

T SRR SR ooy e siafoimR

e ————
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OPTION-B
(Insurance and Risk Management)
Paper : COM-HG-2026

1. Answer any ten queétions of the following

as directed : S 1x10=10
T I ¢ | ‘

(a) In which year Life Insurance
Corporation of India came into effect ?

(b) State whether the following statement

"~ is True or False : ' :
R A P or @ wew T e
Insurable risk can be predicted.

%ﬂmmﬁﬂwmwo@wﬁﬁaﬂﬁy

(¢c) Loss control involves identifying.
Paressd # FrgR e Tive |
() Risk (Rel smicae)
(i) Control (RzE)
(iiij) Profit (FS)
(iv) Market (ISR)
(Choose the correct alternative)

(v Resco) A5 Sl
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(d) Write one example of Regulatory

(e)

Framework of Insurance.

1 PR AR W @by S By

State whether the follow
1n st
is True or False : 2 atemel'lt

o A R 9 R ﬁw
Woxjkers strike is an externa_l risk
THIRE M5 9ft e ﬁvm I |

In which of the followin
Mutual Life Insurance
1ts business in India ?

SIS AR, @iy
e e E%@pmﬁm%%mﬁ

(i) 1870
Stqo
(i) 1871
‘ otad
(iii) 1872
4
(iv) 1873
Strq9

(Choose the correct alternative)

(&% RFscor a1 Eear)

gyears Bombay
Society started

4 (Sem-2/CBCS| HG 1/2 (MAE/IRM/G 12

(9) In which year was Insurance Act
: passed ?

T ST (@ 5SS = 2
(h) State whether the following statement

is True or False :
oo A FI wF @ Siem e

Hull insurance is not concerned with
- the insurance of ships.

T T TR GRS GE F6 A AR
(i) A serious and immediéte. danger is |
called : :
4Bl T I SPRAM [ (PR 2 8
(i) Hazard |
SIFEAE GOl
(i) Perili.
GRS (R
(iii) Loss
(DI
(iv) Risk
il
(Choose the correct alternative)

(o [PEeo! qIf e
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0)

(k)

0

- Write full form of IRDA.

IRDAT i (1 foai |

State whether the following statement
is True or False :

O AR T ST @ S By o

A hfe_ Insurance _policy is issued for five
years. -

Qﬁ@ﬁﬂ%ﬁm%a’mmmﬁw@!

In which year the Malhotra Committee

‘was formed by Government of India t
L (0]

study whether the insurance sect
o)
should be opened for Private player 'r’r

SRS bR T s

Tlo® 22 72w, uﬂ%ﬁamzzm Gl
PO 107 R TR il
(i) 1991 (5»s3)

(ii) 1992 (555%)

(iii) 1993 (Son9)

- (iv) 1999 (S5%)

(Choose the correct alternative)

(@ﬁfﬁﬁzﬁf@fg@%@w)
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(m) State whether the following statement
is True or False : :
oed AR Wi wm @ Swm Rl

Insurance help businessman to
" concentrate their attention on business.

FiE ENTIE TP RGPS CFIS AN
(@GS 0 AR FE|

(n) State whether the following statement
is True or False :
oo I FI CR @ e g

Insurance like fire .and marine

insurance are contract of indemnity.

SR i TR e SR e 5 |

(o) State whether the following statement

is True or False : : '
o A HIfF wm @ Srem B g ‘

Globalization has also caused

immigration numbers to rise.

Ffesfme A JEe GIFFIRR @Bl TR |
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2

Answer any fibe questions of the following
in about 50 words each : 2%5=10

wﬁmmvﬁmmmﬁm@mmm
fooge Ted 3l ¢

(a) _Déﬁne risk.
o7 STl gt |

(b) State the meaning of Hedging.
c=feres =gl et -

() What is meant by health insurance ?

B T I & gome

(d) Give the meaning of negligence
SRz S o |

(e) Define Actuaries.

YT TG el fr |

(/ What is surrender value of policies ?

Wmﬂﬂ%ﬂﬁ]ﬁs?

(g) Write two features of IRDA .
IRDA-R 70 (3% el
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(h) What is meant 'by insurable interest?

Tricatsy =t o e & @ e

Answer any four questions of the following

in about 150 words each : 5x4=20

Wﬁmmwfiﬁr opid SICORRE S S@oBt AW
W’F’T@?W"

(@) Br1eﬂy descnbe the different types of
risk.

_ﬁmmﬁmwwmwﬁn

(b)) Write the difference between life

insurance and fire insurance.

@w%mmwﬁ%mwwvﬂw
feval|

(c) Mention five features of marine
insurance.

G AT e S 11

(d) State any five functions of Actuaries in
life insurance. '

Gl TN TN IR P A155! e
vl '
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(e) Discuss briefly importance of risk (b) Describe various needs of insurance.
e b - St iR SRS ST =
ol SIS AARBIEHIR SR WWW[
: : (c) Discuss certain impact of globalisation ;
(f Highlight any five points of IRDA :n insurance sector. -
Regulation, 2019. ‘ T
% Sl ST (RIS (GIET IR SO KR
IRDAﬁWﬂTQON—“ﬂ'ﬁW?ﬁ‘EE)‘ﬁT‘T Szl 31 |
RS 4l 2
Writ diff (d) Define insurance. Discuss different
(9) T e any five di SHEDESS between types of insurance. . 2+8=10
re-insurance and co-insurance. :
o TN I S TS TS 2 RIeA! A5 éﬁwﬁwwﬁmﬁﬁwwﬁmm
sfiefey ol | =l
(h) State five objective's' (s ey (e) Critically examine various factor
S AF5E '@mﬁl‘nl ?ffecting.g risk.. Ff?m Wl'.lere these
Ly information of risk is obtained ?
£ Fih 8+2=10
Answer qny' our of the following questions :
in about 600 words each : 10x4=40 ot SIS Ol (AR e CAMITTR
AICEAIERE Rosel 1 | G2 [oAn SIS
ﬁwﬁﬁ”mﬁmmﬁm@o@wm Wm%ﬁ_w@? X
fooqe ved 9 ¢
(@ gxplain the different sources of risk in () Discuss the power and functmns of
business. IRDA. |
s Rt e R S Ay | IRDA-F 7l SIE ST SEiioal 1 |
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(9) Elaborate various steps of risk
: management.

ﬁﬂwwmﬂﬁmﬁaﬁﬁﬁmﬁmwﬁ -
o |

(h) Describe differeht principles of -
insurance contract.

WW%WWWI

(i) Write a note on Regulatory Framevvork T
of Insurance. |

%ﬁwwmewmmmy e

() What is risk ? How risk is determined
in life insurance ? Discuss. - 2+8=10

-'ﬁmwm%@m%vﬁvmwmm
[ = =W WA =)
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